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1 Al EIB Ba/om’ | epm |Ba/om®| cpm |Ba/om®| cpm |Ba/om?| cpm |Basem?| cpm | Basom?| cpm Bq/cmz‘ cpm |Ba/om’ | cem |Ba/om?| cpm |Basem®| cpm | Basem®| cpm | Basom?| cpm

1 |EFE AT <104 70 |<104| 70 |<i04| 80 |<i04| 80 |<1.04| 80 |<1.04| 80 |<104]| 80 |<092| 80 |<092| 70 |<092| 70

2| AR E AR <104 | 70 |<to4| 70 |<104| 70 |<i104| 80 |<104| 80 |<1.04]| 80 |<104]| 80 |<092| 80 |<092| 90 |<092| s0

3 HEHAELETYT <104 70 |<104| 70 |<104| 80 |<104| 80 [<104]| 80 |<104| 80 [<104| 70 |<092| 80 |<092| 90 |<092| 90

4| BENRELETY7 <1.04| 80 |<104| 70 |<104| 80 |<104| 80 |<104]| 80 |<104| 80 [<104| 80 |<092]| 70 |<092]| 90 |<092| 90

5(%iE  |Tu7 <104 80 [<104| 70 |<t04| 70 |[<104| 70 |<104| 80 |<1.04| 70 |<104]| 80 [<092| 70 |<092| 80 |<092| 70

6|t 24— (AR KR T 7 <104| 70 |<1.04| 70 [<104| 70 |<104| 70 |<to4| 80 |<i04| 80 |<104]| 80 [<092| 80 |<o92| 70 | <092 70

1|HkREEER B <104 80 |<104| 70 |<t04| 70 [<i04| 70 |<1.04| 70 |<1.04| 80 |<i04]| 80 |<092| 70 |<092| 70 |<092]| 80

8| EEEHLBRERLY T <1.04| 70 |<104| 80 |<104| 80 [<i04| 70 [<104]| 70 |<104]| 70 |<104| 70 |<092| 80 |<092| 90 |<092| 80

9| P [EIERRART AT <1.04| 70 |<104| 70 |<104| 80 [<104| 70 [<104]| 80 |<104]| 70 |<104| 80 [<092| 80 |<092| 70 |<092| 90

10|#EFT BHETE R <104| 70 |<104| 70 |<104| 70 |<104| 80 |<104| 80 |<i104]| 80 |<104| 70 |<092]| 70 |<092| 70 |<092| 90

11 |5EPE <104 70 |<104| 80 |<to4| 70 [<104| 70 [<104]| 70 |<104]| 70 |<104| 70 [<092| 70 |<092| 70 |<092| 70

12[JAEASM T ISR 25 — 14 4 i 2k <104 70 |<104| 80 |<i04| 70 |<104]| 70 |<104| 70 |<104]| 70 |<i04]| 80 |<092| 70 |<092| 70 |<092| 70

13|JAEASMTHEER B — 15 B A E 2R <104| 70 |<104| 80 |<i04| 80 |<i04| 70 [<104| 70 |<i04| 70 |<i04| 80 |<092| 80 |<os2| 70 |<002| 70

14(78FY B&to S—hEFTRT <104 70 |<104| 80 |<104| 80 |<104| 80 [<104]| 70 |<104]| 80 |<104| 80 [<092| 80 |<092| 8o |<o92| 8o

15| SvhdLEE SFETY T <104 80 |<io4| 70 |<t04| 70 |<i04| 70 |<1.04| 80 |<1.04| 80 |<104]| 80 |<092| 80 |<092| 70 |<092| 80

16| hRFERBHTYT <1.04| 80 |<104| 70 |<to4| 70 |<104[ 70 [<104]| 70 |<i04]| 70 |<104| 70 |<092| 70 |<092| 70 |<092| 70

17| R RN L R EERRDEHE SER <1.04 | 80 |<1.04| 80 [<104| 70 |<i04| 70 [<1.04| 80 |<1.04| 80 |<1.04| 70 |<092| 70 |<092| 70 |<092| 70

18| (hREFRLD L R R E BB LR S PE <104 70 |<1.04| 80 |<I1.04| 80 |<1.04| 80 |<104| 80 |<1.04| 80 |<1.04| 70 |<092| 80 |<092| 90 |<092| 90

| RRERFEEAD <104 | 80 |<1.04| 70 |<i.04| 80 <I.04' 80 | <104 70 | <104 80 |<1.04| 80 |<092| 80 |<092| 70 |<092| 80
20| RREZRHEENEAD <1.04 | 70 |<1.04| 80 | <104 80 |<1.04]| 70 |<1.04| 70 [<i04| 70 [<i04| 80 |<092| 70 |<092| 70 |<092| 80
21 |RREEWATEEEIR T 7 <1.04 [ 80 |<1.04| 80 |<1.04| 70 |<1.04]| 70 |<1.04| 80 |<1.04| 70 |<104| 80 |<092| 70 |<092| 70 |<092| 80
2| RREEHEADN ‘ <104 70 |<1.04| 70 |<1.04| 70 |<1.04]| 80 |<1.04| 80 |<i.04| 80 |<104| 70 |<092| 70 |<092| 90 |<092| 80
23|I ~4SHHABERERS— <104 70 |<1.04| 70 |<1.04| 70 [<1.04| 70 |<1.04]| 70 |<i.04| 80 |<1.04| 80 |<092| 70 |<092| 70 |<092| 70
24| iBSRER S —h <104 80 |<1.04| 80 |<1.04| 80 |<1.04]| 70 |<1.04| 80 |<i.04| 80 |<t04| 70 |<092| 80 |<092| 90 |<092| 80
25|1~4SHPPRAREYERT Y —h <104 80 |<1.04| 80 |<104| 80 |<104| 80 |<t104| 80 |<i04| 80 |<ro04| 70 <092 | 80 |<092| 70 |<092| 70
26| AERER T —b <104 70 |<1.04| 70 |<1.04| 80 .|<1.04| 80 |[<i.04]| 70 |<1.04| 70 |<1.04| 80 |<092| 70 |<092| 90 |<092| 90
27(1/ 25 BABAFTERM S —b <104 80 |<1.04| 70 |<1.04| 70 |<1.04]| 70 |<1.04| 70 |<1.04| 80 |[<1.04| 80 |<092| 80 |<092| 70 |<092| 70
28|55 A—E 2 RAIEEE R <104 70 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04| 70 |[<104| 80 |<092| 80 |<092| 70 |<092| 70
29(5/65 9 —EREZEBA DR <104 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<i.04| 8 |<1.04| 80 |<092| 80 |<092| 70 |<092| 70
30|65 42 —E BRI A O AERR <104 70 |<1.04| 80 |<1.04| 80 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<104| 80 |<092| 80 |<092| 80 |<092| 80
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i A BB Ba/om” | cpm |Ba/om’ | epm |Ba/om2 [ cpm |Ba/om®| cpm |Basom®| cpm |Basom? | com |Basom?| com |Basem?| com |Basem?| com |Basem®| com |Basem?| com |Basem?| com
31 |6 54T,/ BREEEIS <104 | 80 |<1.04| 80 |<104( 70 |<1.04| 80 |<104| 80 |]<104| 80 |<1.04| 80 |<092| 80 |<092| 80 |<092| 80
32(dLEREAOERS—k <104 80 |<104| 80 |<104( 70 [<1.04]| 70 |<104| 70 |<104| 70 |<1.04| 70 [<092| 70 |<092| 80 |<092| 90
33| MEAPERER R BAT <104 | 80 |<104 | 80 |<104| 70 [<104]| 70 |<104]| 70 [<104| 70 |<104| 70 |<092| 70 |<092| 70 |<092| 80
34| IR IBIRRARRAT <104 80 |<1.04| 70 |<1.04| 70 [<1.04| 80 |<1.04]| 80 |<104| 80 |<i04| 80 |<092| 70 |<092| 70 |<092| 80
35| {43k M B A BRI ANER (R IR R AT <104 70 |<I.04| 80 |<1.04| 80 |[<1.04]| 80 |<i.04]| 70 |<1.04| 70 |<104| 80 |<092| 70 |<092| 80 |<092| 70
36|7U—2 T Nol (FRERAEASEAD) <1.04| 70 [<1.04| 70 |<1.04| 70 [<1.04| 70 |<092| 70 |<092| 70 |<092| 70
37|TU—UT Y% No2(fRERAEASE) / / / <104 80 |<i104| 70 |<i.04| 80 |<1.04| 80 | <092| 80 |<092| 80 |<092| 70
38| 71— TwF Nod(fRERAEEHIBMFE) / / / <1.04| 80 |<104| 80 |<i04| 80 |<104| 80 |<092| 80 |<092| 70 |<092| 80
39(JY—>FwH Nod(IREREREEIFILFE) / / / <104 | 80 |<104]| 70 |<1.04| 70 [<1.04| 70 |<092| 70 |<092| 70 |<092| 80
40|T—2TvF NoS(IRERAREEIRILE) / / / <1.04| 70 [<1.04| 70 [<1.04| 70 [<104| 70 |<092| 70 |<092| 80 |<092]| 70
H|TY—2T Y% Nob(REERREEIRAH) / / / <104 | 80 |<io4| 80 |<104| 70 |<104| 70 |<092| 80 |<092| 70 |<092| 70
2|7—2FvF NoT(REBFTY) <104 70 | <1.04| 70 |<1.04]| 70 |<104| 70 |<092| 80 |<092| 90 |<092| 90
43|7U—2 T Y% No8(IREEAERME) : <1.04| 70 |<1.04| 80 [<1.04]| 80 |<i04| 80 |<092| 70 |<092| 90 |<092| 90
44|7Y—2Tv¥ No9(FREEAERME) / / / <104 | 80 |<1o4]| 80 |<ioa| 80 |<i0a| 80 |<os2| 80 |<092| 80 [<o92| 80
45|J—Tv¥F Nol0O(IRBAFTY) / / / <104 70 | <1.04| 70 [<1.04]| 70 |<104| 70 |<092| 80 |<092| 70 |<092| 80
46| 71—>Tu¥ No.l | (FRERAEE) / / / <104 70 |<1.04| 80 [<1.04| 80 |<104| 70 |<092| 70 |<092| 80 |<092| 70
47|17Y—>T % Nol2(fRERBEKRE) / / / <1.04| 80 |<1.04| 80 |<1.04]| 80 |<i04| 70 |<092| 70 |<092| 70 [<092| 70
48|7U—2TyF Nol3(IREAFTY) / / / <1.04| 70 |<1.04| 70 |<1.04]| 70 |<1.04| 70 |<092| 70-]|<092| 90 |<092| 80
49| 7YY= T yF Nold(REAFTY) / / / <104 | 70 | <1.04]| 70 |<1.04 | 70 |<1.04| 70 |<092| 70 |<092| 70 |<092| 70
50|—>F v No.l5({REEAERE) <104 70 |<104| 70 [<i1.04| 80 |<104| 80 [<092| 80 |<092| 70 |<092| 70
51| —Fv¥% No. 1(FKmE) <1.04 [ 70 |<1.04| 80 |<1.04| 80 |[<i.04| 80 |<104| 70 |<i.04| 80 |<104]| 80 |<092| 80 |<092| 80 |<092| 80
52| T I—FYF No. 2(JL—F%) <104 80 |<1.04]| 80 |<1.04| 70 |[<1.04| 80 |<i04| 80 |<i.04| 80 |<104| 70 |<092| 80 | <092| 110 | <092 | 90
53| 7 IL—Fvy¥ No. 3(FFVY) <104 | 80 [<1.04| 70 |<104| 70 |<1.04| 70 |<i.04| 70 |<1.04| 70 |<1.04| 80 |<092| 80 |<092| 90 |<092( 90
54| TIL—TvyFx No. 4(FFV) <104 80 | <1.04]| 70 |<1.04| 70 |<1.04| 70 | <104 80 <104 70 |<104| 70 [<092| 70" |<092| 70 |<092| 80
55| 7IL—Tv¥ No. 5(FFY) <104 80 |<1.04| 80 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<i04| 70 |<1.04| 80 |<092| 80 |<092| 70 |<092( 70
56| T —FYF No. 6(FFY) <104 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<i04| 70 |<1.04| 70 |<092| 70 |<092( 70 |<092( 70
57| T —Tv* No. 7(FFY) <104 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04]| 70 |<104| 80 |<i04| 70 |<092| 80 |<092| 70 |<092| 70
58|7IL—TvY¥% No. 8(FFY) <104 80 |<1.04| 80 | <104 70 |<1.04| 70 |<i04| 70 |<1.04| 80 |<104| 80 |<092| 80 |<092| 70 |<092| 80
59[FN—FwF No. 9(JL—F%) <104 70 |<i.04| 80 |<1.04| 70 [<1.04| 80 |<1.04]| 80 |<104| 70 |<i04| 80 |<092| 70 |<092| 70 |<092| 80
60|7IL—Tv¥F No. 10(FL—F%) <104 70 [ <104 70 |<1.04| 70 |<1.04| 80 f<104| 70 |<104| 80 |<1.04]| 80 |<092| 70 |<092| 70 |<092| 70
61|7IL—Tv¥% No. 11(FFY) <104 | 80 [<to4| 70 |<104]| 80 [<10a| 70 |<t04]| 70 [<i0a| 70 [<i04| 80 |<o92| 80 |<092| 70 |<002| 70
62|7IL—Tv¥% No. 12(FFVY) <104 80 |<1.04| 80 |<104| 70 |<i04| 80 |<104| 80 |<104| 70 |<1.04]| 80 |<092| 80 |<092| 90 |<092| 90




